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1 7Ly v — XY C-1 R-1

2 T~FaT A —T7 Y La—1

3 IR =T ERY C-1 S-1 R-1 J-1
4 IR =T EPY C-1 S-1 R-1 P-1 J-1
5 =7 4M C-1 R-1 P-1 J-1
6 A —7 Y C4 S4 R4 P2 J-1

7 7Ly —XERY C-1 R-1

8 IV~FaT A —7 E M La-1

9 IRV =T EBY C-1 S-1 R-1 J-1
10 IRV =T # Y C-1 S-1 R-1 P-1 J-1
11 =7 % C-1 R-1 P-1 J-1
12 A —7 %Y C4 S4 R4 P2 J-1
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[ 7L 17 & FEEENE ]

13 7Ly —XEY W-2 T—1

14 7~FaT7FA—7 8 St-1

15 IRy =7 #5 W-3 T-2 F-2 V-1
16 IRV =7 # Y W-2 T-2 F-1 Q-1 V-1
17 =73 W-3 T-2 F-2 Q-1 V-1
18 A —7 ¥R W-3 T-3 F-3 Q-2 V-2
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19 7Ly v —RXEY W-2 T—1

20 T~FaTA—7 8  St-1

21 TR =73 W-3 T-2 F-2 V-1
22 IRV =T ERY W-2 T-2 F-1 Q-1 V-1
23 =75 W-3 T-2 F-2 Q-1 V-1
24 A —7"FBEH W-3 T-3 F-3 Q-2 V-2
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